i2 /ol /oo 1/3

gC((/Ot L\koAS %ﬁ Z,[L o f‘of{\/b Uza(x/ U) ( 40?«@007

:Z . L(\{\éO\f QC{VCL 1110/0‘ (co o t(\f\.i/(’C“()

Zxample X j/+ Y = Cos (x)

You Con See Freok the /ef}, h@%@(.gc‘o[a

SRR K

(X’LJ )/ So HLOLL Lh& oole L5
(XU)/: co¢(x)
c-e. Xj :fC,S)S(K) Ax <4 C

= S\(x)

Ce. 400 = L (%\V\(x) L)

; App\u‘ bhe YVLQH/L,ocA cg &ol(/ hion or L'\«eof—\

chvqu;\S(Lg L/‘Ou d@f\‘/}, cee Lok~ Fle /ﬁs
s o exocelk cle F~a le) ;

(\)e\\,\f,ftf oo VS 1 j: cos(x)

{Ley\od S0 e cho(ﬂ Eu‘ SEv ( \g f[f.

e, eka‘ﬁ“‘\’(D = x| — uwse X s ead



7%

A Excmp\e z - j/.g- 10A (x) tf - }“OV\ (x)
] Hb”n\a\vl LDu\ ero (\g *Qr\(x) O{X)

j J{n(x) dy = x €/L(><) ‘fx;LO’x
- X ‘Qf\ (%) - X (-FC—)

Wu\’r\‘pkj \ox\ exp (x \Dn(x.),x)

Thean
y exp (xuix) 4 By exp (= =)
= lon(x) exp (x (0)-x)

e,

=N { A e ()C ex(x) ~><>] = ]rw\(x) C’xp(xe(x)-x

X

LG e (j €><p(>< en(x)_.x)
= f’fé‘u\(x) exp(x ()r\[x)_X) o(x 1C

(.2

| Y(x)= €xp ("Xp/l(f>+ XQ fkm (x) exp(x Aix -x)a

+ C exp(—x B(x) 4%



3/j

Exs ]”PJ\CC. £ v m"c]\f(’/xesf

e
| Y

4= qe-rey

} | C‘ ; (9 Cen l‘LV\W «$ 0OA EC&/ L:]
O A, 2 woluWon  Cxiske 2 s vn\C‘(ﬁE
on («,b)

() Bemo /s equatbion

j”+p(x)gj: G () U“ n 4|

N

I
ge} AN = U

0;&& :(Lﬂ)fj-h %/ — [C‘ (x‘)\jm,» P(X)‘jj U'n(l-n)

A x
= [O\(X} .,P(x} t;))_—j(l-n.): iq(x)-p(x)./uj(l,n)

AN

wa M{;(I-;«)P(y),«{ - CI()C)(MV/ whiclh (s

| Cne o



